2B (20 2 REBARMA)

w & F 0 W OE

FATR36H2C3EY (22F B HEH92 5502125, $RI0706) I FL—F%
NETEREHOELEEEINDIOERETS, BERRF v 3 F)

= RV

BhhinrEikiE

il ® % &

) 5
F® #£ A B
RAERFERSHE B
YEMESHAE (WEEHESEEFHREEME)
bi-zns e
*x B O xT H B %
] E] FEEARE R AN ] B CEEAES N AN
H & HA — REEEHR A - -
B | TF36H2C3 — R E kg| 29000 27500
B O E oMyl 8 « BRI | 10490 12635 |-
Al & & — # ih |EAIBE| 8480 7785 |<10t
E &K 0¥ lkl ¥t — RER(LTHE|] 8485 7785  |<10t
2 - - k g [REBE 8485 7785 [S10t
S - - B 35940 36990 [=28t
w S E L - - BAEE | A 50° *60 | —# =35
12. 145 12. 640 BERAaE | E 50° *50 £ D h=30"
®E m qreon | (raow) |S2 - N -
[T m|  2.490 - <2.5m AR
& m| 2.260 2.670 |<3.8m B 11R22.5 pa
6. 910+1. 300 4% i -14PR
] B m| +1.300 “— A4 X, 11R22. 5 —
=9.510 i -14PR
RiTRilE - - s 11R22.5 =
W OEE (AT 1. 850 — fakanall IS
m (%R 1. 850 — T WA | AR R - -
ki 1. 850 — & 4 ¥ [ % i %k 84.8 77.9 < 100%
HPUI[REm 12. 000 12.310 WEES & P & 84.9 77.9 < 100%
ﬁﬁgg 7 m 2.470 2. 460 %| # % b 84.9 77.9 < 100%
>~ & o - - o
FRRE 1270 7370 PRI RS % - - =218,-20%
B OW (RAMME| 1890 2040 IERE N
5 B [BETHE 1890 2040 m| 2090 1.790 |=1/2
k g (A RBE 1890 2040 ME4r7€y b m| 2.610 3. 065
Bt 6940 8490 B/ BEEGEEE m[ - * 10.3 [<12
e A # -4 % ® Bt
T e R E |ob/0=490/76115X2.6=2.567=1.6
GO OB B H -~kg 60km/h 39m | HE #h m & -
2245 E 637kpa B R E -
l BEEBEMRE -
. [ = &% - EEI-EYA -
HEME & = R E AR -

EL. REMBRMNKZ. Y LR2VbLoE—, EBLEbORXERATEZL,
2. *Eljk =% BDG-FV50JJRE k5 2 & L MAEFOHBEERT,

R010162

¥ EEOEVEEICONTE, M TREATALE

Y4o2 |4




